
Leonard Alexander Cup – Seavington St. Michael v Seavington St. Mary 24th August 1985 
 
Innings of Seavington St. Michael 
 
Batsman   How Out   Bowler  Score 
1. P. Retter  Bowled   P. Mead  1 
2. P. Wyatt  Caught C. Male  P. Mead  6 
3. D. Retter  Caught M. Lamprill  M. Tolman 4 
4. S. Edmunds  Caught P. Mead  M. Tolman 5 
5. C. Male  Bowled   P. Mead  0 
6. P. Longhurst  LBW   P. Mead  1 
7. S. Gillard  Bowled   P. Mead  2 
8. E. Gillard  Caught and Bowled  M. Tolman 0 
9. M. Edmunds  Bowled   P. Mead  1 
10. K. Male  Not Out     4 
11. D. Salzer  Bowled   P. Mead  0 
Extras (10 byes)       10 
Total        34 for 10 wickets (15 overs) 
 
Fall of Wickets 
6 – 1 (P. Wyatt), 11 – 2 (D. Retter), 12 – 3 (P. Retter), 12 – 4 (C. Male), 16 – 5 (S. Edmunds), 23 – 6 (P. Longhurst), 23 – 7 (E. Gillard),  
23 – 8 (S. Gillard), 34 – 9 (M. Edmunds), 34 – 10 (D. Salzer) 
 
Bowling Analysis 
Bowler  Overs Maidens Runs Wickets 
1. P. Mead 8 1 14 6 
2. M. Tolman 7 4 10 4 
 
Innings of Seavington St. Mary 
 
Batsman   How Out   Bowler  Score 
1. M. Chaffey  Bowled   S. Gillard  0 
2. P. Vickers  Bowled   S. Gillard  4 
3. R. Ash   Bowled   S. Gillard  0 
4. A. Gillard  Bowled   S. Gillard  1 
5. A. Chaffey  Bowled   P. Retter  4 
6. N. England  Caught M. Edmunds P. Retter  0 
7. T. Tolman  Caught P. Wyatt  S. Gillard  4 
8. M. Lamprill  Bowled   S. Edmunds 5 
9. C. Male   Bowled   S. Edmunds 5 
10. M. Tolman  Not Out     0 
11. P. Mead  Caught and Bowled  S. Gillard  0 
Extras (2 Byes, 1 Leg Bye, 1 Wide)     4 
Total        27 for 10 wickets (14.4 overs) 
 
Fall of Wickets 
0 – 1 (M. Chaffey), 0 – 2 (R. Ash), 2 – 3 (A. Gillard), 9 – 4 (A. Chaffey), 9 – 5 (N. England), 9 – 6 (P. Vickers), 20 – 7 (M. Lamprill),  
22 - 8 (T. Tolman), 26 – 9 (C. Male), 27 – 10 (P. Mead) 
 
Bowling Analysis 
Bowler  Overs Maidens Runs Wickets 
S. Gillard  7.4 4 6 6  (1 Wide) 
P. Retter  4 1 9 2 
S. Edmunds 3 1 9 2 
 
Seavington St. Michael won by 7 runs. 


